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Question 
Maximum 

Mark 

Mark 

Awarded 

2 3  

4 5  

6 3  

8 2  

10 6  

12 3  

14 6  

16 5  

18 7  
 

  



2. Circle the correct answer for each of the following 

 

(a) The angle between the two equal sides in an isosceles triangle is 80o 

The other angles must each be 

 

100o 60o  50o  180o  90o    [1] 

 

………………………………………………………………………………………………………………………………….. 

(b) Three of the angles in a quadrilateral add up to 290o 

The size of the forth angle is 

 

70o  80o  180o  360o  65.5o   [1] 

 

………………………………………………………………………………………………………………………………….. 

(c) Huw is facing West.  He turns anti-clockwise until he is facing South. 

He has turned through an angle of 

 

90o  360o  270o  15o  6o   [1] 

………………………………………………………………………………………………………………………………….. 

4. (a) Solve the equation 4x + 7 = 31      [2] 

 

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………… 

(b) A number machine is shown below 

 

 

 

 

 

 



6.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

8.  

Show clearly whether the following statement is true or false.     

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



10. (a) Write down the nth term of the following sequence    [2] 

 

4, 9, 14, 19, ………. 

 

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………… 

(b) The nth term of a different sequence is given by n2 – 3 

 (i) Write down the first three terms of this sequence   [2] 

 

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………… 

(c) Which term in this sequence is the last to have a value less than 40?  [2]  

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………… 

 

12.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 



14.  

 

(a) Reflect the triangle P in the line x = -2       

 

  

16.    
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18.  (a)  Factorise x2 – 7x + 12, and hence solve x2 – 7x + 12 = 0     [3] 

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………. 

 

[1] 



(b) Solve the equation 
���

�
−
����

�
=

�

	
       [4] 

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………… 


